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Please read each of the following instructions carefully before attempting questions .

3 & @ qd AEfaf@d Wt & poar gaueiyEas 96 |

1.

There are EIGHT questions printed in both. English and Hindi.

SHHA 36 9 § oI 33air 3R ey e §# S § |

Candidate has to attempt FIVE questions in all either in English or Hindi.

3FledR T el i Tl & I S o el 7 A §

Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be attempted.

U9T TEAT 1 IaT & | AF 1T 92T A & IR 9&T & 3 ST |

All questions carry equal marks. The number of marks carried by a question/ part is indicated
against it.
T IRAT o THAT 3P & | Tcddh UT / AT & foad 31 38 Al QU 9T § |

Write answers in legible handwriting. Illustrate your answers with suitable sketches and diagrams,
wherever considered necessary.

gurey fo@mae 7 3R 8T | S67 8 3aeds FHs ST, 98l 3de a3l &
39geFd (@A 3R IR & @y FTose HfAT |
Each part of the question must be answered in sequence and in the same continuation.

el & W7 & 30X 38T A H feIr Je=m anfge |

Attempts of the questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank in
answer book must be clearly struck off.

REAT & FTRT T INUTAT HAFTAR Hr S | AR o7 & QU 7T yoal & 3 v 8t
AT & Seelt afe 38 wer g a7 g | Wiell IS 9T His 8 o 3rar g5
& HT & guTa: e ST |

Re-evaluation/ re-checking of answer book of the candidate is not allowed.
3FHICAR T TR &I Jeld{odiehel / YeT: ST i 3eTHATT 161 & |
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1. Answer all the following questions (5x4 = 20)
g fafea ot ot & S &Rl

a) Differentiate between adverse selection and moral hazards in determining price under

asymmetry information.

&W&Iﬁw (asymmetric Information) & 3fTd B YR o Hl?lgm 994 UdH
A TR & 7 SR I

b) Discuss how international trade affects the sustainable development adversely.

qAd fadbTE WR SR IR 58 YR J Ui YHTd STerdl § - SRS DY |

c) What is the rationale of indicative planning in the context of a mixed economy?
fafyer srfeae & Teu & fia gierm &1 @ siifua 82

d) What do you mean by monopoly power of a firm? How does it measured? Give one

example.

T BH P THIUPR fad T 3MYDT T U 5?2 SHPBT HA ATUT ST &, ISTET
difere|

2. Draw price consumption curve and income consumption curve using indifference curve analysis.

How demand curve is derived using price consumption curve? 20
AT I A= o IYANT ¥ BT SUHNT 9eh TaH 3T SUHNT b GRIeY | HIAd
IUHNT a6 q ART IeF &1 Sgdd b fhaT Sl 82

3. Explain the law of variable proportion. Explain the factors responsible for U shaped short run as

well as long run average cost curve. 20

fafae SrauTdl & faw & TR BRI BT TaH craabTa- 3iud aNTd asb & U-
HR & ol IR PRDI| Bl AR DI |

4. GDP is not an index of economic welfare — discuss. Explain the advantages and disadvantages of
Physical Quality of Life Index (PQLI). 20

eI offes HeTur &1 Ya& o §- TR D | g & Ui oradl qadhi® & a1y
Td g1+l & R e |
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5. Define and derive the Government expenditure multiplier. If the Government expenditure is
equal to the Government revenue what will be the value of multiplier and why? Given the value
of MPC 0.75 and Tax rate 0.15, calculate the change in national income if Government

expenditure increases by Rs. 100 crore. 20
BRI Y U P ARAT TTH G $ | i THRI 9 BRI SHNTH & SRISR gl ol
0T T A &1 GRT 3R F? Afe MPC 0.75 TUT HR BT & 0.15 BT IUT IRBRI &I 100
PG FYU §¢ Tl 8, dl AP 3 H fbe1 uRadH grm?

6. Elaborate the theory which explain the relationship between inflation and unemployment. What
tools monetary authority applies to control inflation? Why synchronization of monetary and

fiscal policies are important to achieve low inflation and high employment? 20

TR Td SRISTRT & Ted Y &1 SARSAT HRA aldl RAGId 1 qui Hifoe | Migew
TRPR TR gaT Wifd & [ &3 & Riw 57 w et &1 uan aadt 31 g
TG el ¥R TaH 31 ISR & TR & A&d DI U & fog Aige TaH ey it
BT ISR T AgayU 87

7. What are the salient features of inclusive growth? Why India focused on inclusive growth
specially during 11™" and 12" five-year plans? Analyse the success and failure of this strategy

during last two five-year plans. 20
Ok Wafs @ T faRwane oF-3F I g2 faRy *u § 11df vd 12af daaviy
Aol § URA $T JHERT Agfa TR & dicd &1 o7 2 S~ & TIau AoIst &
R 39 I Sgexa T &1 Thadisl TaH Swadrsl &1 fazayur Hifore?

8. “Full employment is a myth”, Explain. In view of this statement, discuss the applicability of
mainstream economics theories for developing countries like India in the context of present

crisis regarding job loss growth. 20

guf ISR T e §'- 9o %1 39 FYF & 3ddied | HRA o fasraeia ¢ &

deyf ¥ adam AR IRd Hafs & Adhe R SiuRd & o7 Rigial & YA &) are
DI
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